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FE SR NE YN KRNI T e AL W2 AR o mE A ANEL
2012 64131 52445 21234 31456
2013 74130 4742 30979 34269
2014 85102 H4832 21842 33387
2015 94652 58693 22876 34786
2016 107808 59016 26764 32960
2017 114262 59273 27427 33347

2018 118269 63165 28579 34684
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tables read.table( ,header=TRUE, sep
summary (tables)
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G M S PN i HMMEFHENE FH2ARBAH FHemadEAR
Min. 12012 Min. : 64131 M™Min. 152445 Min. 121234  Min. 131456
1st Qu.:2014 1st Qu.: 79641 1st Qu.:54787 1st Qu.:22359 1st Qu.:33154

Median :2015 Median : 94652 Median :58693 Median :26764 Median :33387
Mean :2015 Mean : 94058 Mean :57452 Mean 125672 Mean :33556
3rd Qu.:2016 3rd Qu.:111035 3rd Qu.:59145 3rd Qu.:28003 3rd Qu.:34477
Max. :2018 Max. :118269 Max. 163165 Max. : 30979 Max/ nrBA78 6o
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tables ts(tables,start=2012)

plot(tables[ ,2],1lwd=2,xlab ,ylab

lines(tables[ ,2],type ,lwd=2,x1lab
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plot(tables[ ,3],1lwd=2,xlab ,ylab
lines(tables[ ,3],type ,1lwd=2,xlab
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plot(tables[ ,4],1lwd=2,xlab ,ylab
lines(tables[ ,4],type ,1lwd=2,xlab
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plot(tables[ ,5],1lwd=2,xlab ,ylab
lines(tables[ ,5],type ,lwd=2,x1ab
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model Im(tables[ ,2]~%f,data=tables)
summary (model)

Call
Im(formula = tables[, 2] 4y, data = tables)

Residuals
1 2 3 4 ) 6 7
1498.1 975.3 570.5 594.3 4274.1 1251.9 -4217.4

Coefficients
Estimate Std. Error t value Pr(>|t]|)
1.900e+07 1.097e+06 17.32 1.18e-05
9.476e+03 5.444e+02 17.41 1.15e-05

Signif. codes > 0.001 “**’ @9.01 “*’ @0.05 ‘.’ 0.1 1

Residual standard error: 2881 on 5 degrees of freedom
Multiple R-squared 0.9838, Adjusted R-squared 0.9805
F-statistic 303 on 1 and 5 DF, p-value: 1.147e-05

confint(model, level=0.95)
2.5 % 97.5 %
(Intercept) -21820457.926 -16180570.22
FEhr 8076.739 10875.69
anova(model)
Analysis of Variance Table

Response: tables[, 2]

Df Sum Sq Mean Sq F value Pr(>F)
Ay 1 2514361841 2514361841 302.97 1.147e-05
Residuals 5 41494980 8298996

Signif. codes 0 ¢ > 0.001 “**’ @9.01 ‘*’ 0.05 ‘.’ 0.1 ‘1
plot (¥R AFEL N E~4E4r, data=tables)
text(tables[ ,2]~tables[ ,1],labels=tables[ ,1],cex=.6,adj=c(-0.6,.25),col=4)
abline(model, col=2,1wd=2)

mtext (expression(hat(y)==(9.476e+03) (-1.900e+07) ), cex 1.2,side=3,1line

14,adj=0.5)
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pre=data.frame(&E4=2019)
text.pre=predict(model,pre,interval ,level=0.95)
text.pre

fit lwr upr
131962.6 122266.7 141658.4

pre=data.frame(&4=2020)

text.pre=predict(model,pre,interval ,level=0.95)

text.pre
fit lwr upr
141438.8 130873 152004.6
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model Im(tables[ ,3]~%f,data=tables)
summary (model)

Call
Im(formula = tables[, 3] 4y, data = tables)

Residuals
1 2 3 4 5 6 7
142.36 533.00 998.64 1240.71 57.93 -1422.57 847.79

Coefficients

Estimate Std. Error t value Pr(>|t]|)
(Intercept) -3210158.1 402525.7 -7.975 ©.00050
A 1621.6 199.8 8.118 0.00046

Signif. codes > 0.001 “**’ @9.01 “*’ @0.05 ‘.’ 0.1 1

Residual standard error: 1057 on 5 degrees of freedom
Multiple R-squared 0.9295, Adjusted R-squared 0.9154
F-statistic 65.9 on 1 and 5 DF, p-value: 0.0004602

confint(model, level=0.95)
2.5 % 97.5 %
(Intercept) -4244883.245 -2175432.898
FEhr 1108.132 2135.154
anova(model)
Analysis of Variance Table

Response: tables[, 3]

Df Sum Sq Mean Sq F value Pr(>F)
GO 1 73632316 73632316 65.898 0.0004602
Residuals 5 5586820 1117364

Signif. codes 0 ¢ > 0.001 “**’ @9.01 ‘*’ @0.05 ‘.’ 0.1 1
plot (AT s A AN $~ 447, data=tables)
text(tables[ ,3]~tables[ ,1],labels=tables[ ,1],cex=.6,adj=c(-0.6,.25),col=4)
abline(model, col=2,1wd=2)
mtext (expression(hat(y)==1621.6 (-3210158.1)),cex 1.2,side=3,1line

14,adj=0.5)
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model Im(tables[ ,4]~%f,data=tables)
summary (model)

Call
Im(formula = tables[, 4] 4y, data = tables)

Residuals
1 2 3 4 ) 6 7
2310.5 6725.5 -3120.5 -2795.6 383.4 337.4 780.3

Coefficients

Estimate Std. Error t value Pr(>|t]|)
(Intercept) -1403035 1414538 -0.992 0.367
A 709 702 1.010 0.359

Residual standard error: 3715 on 5 degrees of freedom
Multiple R-squared 0.1695, Adjusted R-squared 0.003345
F-statistic 1.62 on 1 and 5 DF, p-value: 0.3588

confint(model, level=0.95)
2.5 % 97.5 %
5039220.746 2233149.960
1095.522 2513.593
anova(model)
Analysis of Variance Table

Response: tables[, 4]
Df Sum Sq Mean Sq F value Pr(>F)
A 1 14076486 14076486 1.0201 0.3588
Residuals 5 68993260 13798652
plot (¥ 2 A& N#~&E4, data=tables)
text(tables[ ,4]~tables[ ,1],labels=tables[ ,1],cex=.6,adj=c(-0.6,.25),col=4)
abline(model, col=2,1wd=2)
mtext (expression(hat(y)==709 (-1403035)),cex = 1.2,side=3,1line 14,adj=0.5)

pre=data.frame(££43=2019)
text.pre=predict(model,pre,interval ,level=0.95)

text.pre
fit lwr upr
28507.71 16005.37 41010.06

pre=data.frame(&4;=2020)
text.pre=predict(model,pre,interval ,level=0.95)
text.pre
lwr upr
1 29216.75 15592.64 42840.86
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model Im(tables[ ,5]~%f,data=tables)
summary (model)

Call
Im(formula = tables[, 5] 4y, data = tables)

Residuals
1 2 3 4 5 6 7
1305.32 1242.93 96.18 1230.43 860.32 738.07 334.18

Coefficients

Estimate Std. Error t value Pr(>|t])
(Intercept) -499915.7 422962.3 1.182 0.290
A 264.7 209.9 1.261 0.263

Residual standard error: 1111 on 5 degrees of freedom
Multiple R-squared 0.2414, Adjusted R-squared 0.08964
F-statistic: 1.591 on 1 and 5 DF, p-value: 0.2629

confint(model, level=0.95)
2.5 % 97.5 %
1587174.8953 587343.5381
274.8325 804.3325
anova(model)
Analysis of Variance Table

Response: tables[, 5]

Df Sum Sq Mean Sq F value Pr(>F)
G 1 1962592 1962592 1.5908 0.2629
Residuals 5 6168518 1233704

plot (¥ 2 wim A& ANE~F1r,data=tables)

text(tables[ ,5]~tables[ ,1],labels=tables[ ,1],cex=.6,adj=c(-0.6,.25),col=4)
abline(model, col=2,1wd=2)

mtext (expression(hat(y)==264.7 (-499915.7)),cex = 1.2,side=3,1line 14,adj=0.5)

pre=data.frame(£E43=2019)
text.pre=predict(model,pre,interval ,level=0.95)

text.pre
fit lwr upr
34614.57 30876.23 38352.91

pre=data.frame(&43=2020)
text.pre=predict(model,pre,interval ,level=0.95)
text.pre
lwr upr
1 34879.32 30805.56 38953.08
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legendi % legend gk ¥ in & il

plot(tables[ ,2],1lwd=2,ylim=c(50000,120000),xlab
lines(tables[ ,2],type ,1lwd=2,col )
lines(tables[ ,3],type ,1lwd=2,col )

axis(1,col )
legend( ,c( ),pch=1,col=c( ),X.intersp=0.2,y.intersp=0.2)
title(
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plot(tables[ ,2],1lwd=2,ylim=c(20000,40000),xlab

lines(tables[ ,4],type ,1lwd=2,col )

lines(tables[ ,5],type ,1lwd=2,col )

axis(1,col )

legend( ,c( ),pch=1,col=c( ),X.intersp=0.2,y.intersp=0.2)

title(
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